How to Solve a Multiplication Problem
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First, you pretend that the one is
not there. Then, you multiply
3x7 which is 21. Next, you put
the one from twenty one under
the seven and put the a small
two on top of the big two. Then,
you multiply 2x7 whichis 14
plus 2 equals 16. That's called
regrouping.




Steg Two

Second, you have to cross out the
seven in seventeen and cross out the
two that is on top. Then you put a
place holder in the ones place which
is a zero with a line through it
because we already did the ones.
Next, you multiply 3x1 whichis
three, so you put it in the tens place
under the six. After you do that you
have to multiply 2x1 which is two,
s0 you put the two under the one in
the hundreds place.
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Third, you have to add
your products of each
problem we did. So, you do
1+0=1. Then, you add
6+3=9. Last, you add
2+1=3. Then you get your
answer to your problem.







